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Chose the correct answer for the following questions:

Q1: In the junction shown in the figure, which
equation correctly expresses the sum of the
currents?

25 SYalaall (6T (Sl @ dusll diogll (3 :Q1
fohlall gl fgamall e muone St

A[1+12+13+l4+l5+l6=0

C11+12—13+[4+15—16=0

Bll_lz_lg_l4+15+l6=0

Dll+12+13+l4+l5—16:0

Q2: In the junctions shown in the figure, what
is the value of i?

Ti Ll dad Lo ¢ Sl (3 sl Do gll (3 :Q2

A.6A

C.2A

B.3A

D.4A

Q3: When being used to measure current, an

ammeter should be connected in ...

e Jog ol o ol el delusuw! wie :Q3

-

A. Series with the voltmeter

I3 olie o JIod) e A

B. Paralle! with the voltmeter

cJgd e g0 S)lgHl e B

C. Series with the circuit

450,18 511 ae Jlgall e .C

D. Parallel with the circuit

45L,eSJ1 851w (S)lgall (de D
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Q4: In the circuit shown, with the switch open
the capacitor is completely uncharged. The
switch is closed for a long time. The current
through the circuit is 0.2 A. Determine the
value of the unknown resistor.

zhadl 0sS biuie (Kadl § dull 3511 3 :Q4
b Zliaall Bl @ cogmedun a2 ISl 0555 oiis
32 8511 3 Ol Ll of cule 13) ol oo doghs

Jseall poliell dad 50> 0.2 A

VVV
’ 400
\ 1.0 uF
8.0Q

T AAA—

7.0V
A 12 Q C.27 &
B. 18 Q) D. 24 Q

Q5: An ammeter has a resistance Ry and
requires a current of 1.0 mA for full-scale
deflection. If the shunt resistance needed to
produce a full-scale current of 12 A for the
same ammeter is 3.5 mQ. What is the
resistance of the ammeter, Rx?

29500 dhaS Belyd Jasy g Ra daglin sl pwlidal :Q5
&l (530 daglie COE 1] 1.0 MA diad Lo
P 12 A G0 )5 el duds el wlidel e

?RAMi o bda daglie 2 L 3.5 MmO

A. 350

C.180Q

B.42 Q)

0. 21.0

Q6: In the circuit shown, Ri=5 €, R,=10 Q,
and R3=15€2, and V1=10V, and V,=15 V. Using
Kirchhoff's loop and junction laws, determine
the currents i,, i3 , where iy =0.091 A

R1=5 Q, O Cuale 13] Sl 3 usell 3511 (3 :Q6
V=15 V ¢« Vi=10 V ol 9 R3=15 Q, (Ry=10 Q,
S dad 50> 9 Apglly dall) Cagi S 0538 Uil

i1 = 0.091 40l cwletdl iy, iz oo

Ry

M A

Vemt =

VY

iy

AAA

b A

R;

A. i, =054 4,i3="0.64A

C.i,=1.04,i3 =104

B.i,=0.18 4,i; = 0.33 A

D.i, = 0.23 4,i; = 0.63 4
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Q7: In the circuit shown, determine the
charge on each capacitor when switch S has
been closed for a long time, where Ry = 1 k),
R2=2 kQ, C; =1 puF, and G, = 2 uF.

iS5 did (2 b Sadl § Al 55101 (3:Q7
Of Caalde 13] pa3ll (o dogls 821 S lidall (3ME] e
CQZQIJF iClzll.lF Ry =2 kQ,tRlzle

10V

Cy

A.q, =3.33 uC,q, = 6.66 uC

C. g4 = 6.66 uC,q, = 13.3 uC

Big, =133 it g5 = 333 uC

D.q, =333 uC,q, = 13.3 uC

Q8: In the loop shown in the figure if we start
from point A, and move in clockwise
direction, which equation expresses the sum
of voltages through the loop?

agidl o Ul 13) (K2l (§ dspgall 35101 (& :Q8
@“H Adleal Lad cde L) wlae ol L_g LSJ:C@ :(A)
Gdal=ll (§ dedsall Foazo o pa

|

— [

v
vz O o

AL

A

nl

AliR  +Vi+iR,—V>;=0

C =RtV — iR == 0

B. —iR{(RAALAR, R YHE O

DR, iR = —0

Q9: During a physics demonstration, a fully
charged 98-pF
through a 125-Q resistor. How long will it take

capacitor is - discharged

for the capacitor to lose 75% of its initial

98 H_F Al g_jj\g.a t{)ﬂj ﬂq.'i._s (@9)&9 :b‘).:u“ dy} QQ
75% o ) 4a)M1 a3l el Lo . 125 Q pslie S
G aSIauY) LSl L OP

charge?
A. 17 ms C. 12 ms
B. 3.5 ms D. 6.6 ms
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Q10: A 24-V battery is attached to a 3.0-mF
capacitor and a 100-ohm resistor. If the
capacitor is initially uncharged, how long will
it take for the capacitor to reach a charge of
50 mC?

Slgdl e 24 V baug> 3,8 H)la Loy Q10
OB 13 .100 Q disyléo pglae 5 3.0 MF dizw CaiSes
La)DU1 duall BN Lo cOgmdne pE HIUA (3 CaiSal

T50 MC a4 Sl Juad

A.0.11s

C.0.36s

B.0.21s

D.030s

Q11: A 24-V battery is attached to a 3.0-mF
capacitor and a 100-ohm resistor. If the
capacitor is initially uncharged, what is the
charge on the capacitor 0.21 seconds after
the circuitis connected to the battery?

Jlsdl e 24 V gz 38 4l Jeog :Q11
OE13).100 O dseglie polis 5 3.0 MF dinw CatSay
s Sl L Lo cOgomdun e Llud! (3 Sl

Cd)ladl 85Il Juo 65 10 0.21 5 )9

A.21 mC

C..52 mC

B. 30 mC

D. 36 mC

Q12: A 2-uF capacitor is connected in series
with a 1.2-MQ resistor and a 5-V battery for a
long time. What is the current in the resistor
1s after disconnecting the battery?

polie an Jlgill e 2 pF dizw aiSe Juogs 1Q12
lo .3l (30 dbiglo 8741 5V )l 9 1.2 MQ) diraglie
Sayladl Juad 3o 1 s da polaall (3 Ll Ll

A. 2.75 A

C. 250 uC

B. 1.25 pA

D. 2.00 uC

Q13: Beginning with an uncharged capacitor
in an RC circuit, how long would it take, in
multiples of time constant 1, for the capacitor
to be 86% charged?

oo S RC 8515 3 Ogmdn . @iSa e Tey :Q13
e Sl By (po3)l cold Caclass )ed gl

CSG% MWM

A t=1

C.t=051

BA=—2T

B

Q14: The internal resistance of ideal ammeter
should be:

0655 O Lo _pnel (uliiie) dds1ul deglaall :Q14

A. Infinite resistance

C. Zera resistance

B. Very large resistance

D. Very law resistance
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Q15: From the circuit shown in the figure,

005 ol e Lo Sl (3 dunedl 3501 50 :Q15

what is the time constant of the circuit? G850l
| |
11
120Q 3.0 uF
3.0Q
N | 1
S I’
A. 9.0x10% s C.3.6x10° s
B. 2.8x107 s D. 4.5%10°¢

Q16: You have an RC circuit with the switch
initially ‘open.”"When the switch is closed
which of the charge as a function of time plots

most accurately represents the charging of
the capacitor

3l bue Lludl 3 zezke rlraes RC 551 3 :Q16
Ja3 o3l DY Ao sl ASLN gl 50" Sl - laal
¢ CaiSall O ddes

Charge

Time

Charge

Time

Charge

Time

Charge

Time
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Q17: Use the data on the graph to find the
time constant of the RC circuit?

3y Bl @l (@ Al SBLAI pazl :Q17
TRC 851 g3l b

i (mA)

10

1 6 8
Time (ms)
A. 4 ms €. 1Lms
B.3ms D.2ms
Q18: What is the equivalent resistance of the | duwll &legliall de gazxal d88WJI daglial L :Q18
set of the resistors shown in the figure. Sl 3
100 60
VWA VWA
AO— §200 —oB
50 30
YW VW
A. 24 Q) g0
B.560 D.&800O
The end,
7
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